1. Solve the equation by Factoring 2. Write the quadratic equation

- 5 with the given the solutions
¥ =4x-5=0 LA x=3 and x=-I
(x+\(x-8)= O P‘\J,B X-3= X+1= 0%

X+1=o x50 X=3Y) X+ :o<>
x=-1 XK=5. (1 \?d/‘) OQ

Sketch the graphs of the examples above 23 —
Labsl :l:je x-intercepts ol:1 each graph X :(-‘%ﬁ_ ,55 =0

Al o

]
—

=\ EJ

3. Given the graph of f(x) f(x)=
a) State the y-intercept ({).9)

b) State the x-intercepts ( [.0] and (5. 0)
¢) Write the equation of the function
ol
f(x)= (X — 5 ) -~ "l' in vertex form
'?(X) - (x._. | XX fas 5) in factored form
_P(x) - XS. lex i B in standard form

4. Given the graph of g(x) 2(x)=
a) State the y-intercept (0.4 )

b) State the x-intercept 2. 0)

¢) Write the equation of the function

2
\9'{-1'} = (x iﬂ_\w in vertex form
30‘\\ = (X + ‘Z,XK"" ‘2"\ in factored form

30{3 - Xl x ij + ‘-\ in standard form




Graphing using a calculator
I. Graph f(x)=x"—-x~-12

Press the [Y = key on the top of the calculator.
Press CLEAR|in Y.

2. Type in the following equation: Y; = x* —x - 12,
Use the blue E subtract button on the side (not the gray negative button at the bottom)

3. Press the | WINDOW | button.
Type in the following values \\ /(

x-min: -10

x-max: 10
x-scl: 1 \ /

y-min: -20
y-max: 10
y-scl: 2

Press[GRAPH].

4, To find the x-intercepts  (otherwise called the Zeros of the function or Roet of the function)

Press the Iﬁ Mbulmn. _
Press the down arrow to go to [2: zer;] then press [_ENTEE L \{/ ,{{
R

At the bottom of the screen you should see:  Left Bound?
Press the left arrow button to the left side of the leff x-intercept and press [ENTER1'
At the bottom of the screen you should see:  Righi Bound? .
Press the right arrow button to the right side of the same root and press ENTEFJ
At the bottom of the screen you should see:  Guess?  press tENTERi

At the bottom of the screen you should see: Zero X =-3 Y =0 \\l E

Find the right x-intercept
Press the iZ TRACE button.
Press the down arrow to go to then press |ENTER

At the bottom of the screen you should see:  Lefi Bound? '
Press the right arrow button to the left side of the right x-intercept and press ENTER
At the bottom of the screen you should see:  Right Bound?
Press the right arrow button to the right side of the same root and press [ENTER',
At the bottom of the screen you should see:  Guess?  press ENTER

At the bottom of the screen you should see: Zero X =4 Y =0



5. h(x)=x"+6x+5 hﬁ)ﬂ"’;{o);{' ﬁ{h}l' 5

y-intercept: ( () 5 )
x-intereept(s): (=6, 0 ) (=] . D)
h(x)=é(-{-5)(x+ [j in factored form

(0,5
-S -'l

6. f(x)=—x"+2x+8

y-intercept: (

x-intercept(s): (

S(x)=

¥

)

)

)

in factored form



Quadratic equations and their graphs

. Given the graph of f(x) fEx)=
a) State the y-intercept ( , )

b) State the x-intercepts ( yand ( , )

¢) Using the x-intercepts, write the equation of the function

f(x)=

in vertex form

in factored form

in standard form

2. Given the graph of g(x) g(x)=
a) State the y-intercept ( . )
b) State the x-intercepts( ., )and ( , )

¢) Using the x-intercepts, write the equation of the function

A0
glx)= in vertex form I I

in factored form

- 8
in standard form e -l
3. Given the graph of h(x) h(x)=
a) State the y-intercept ( , )

10

b) State the x-intercepts ( , )and ( , )

¢) Using the x-intercepts, write the equation of the function

hix)=

in vertex form

in factored form

in standard form




4. f(x)=x"-x-6

y-intercept: ( , )

xintercept(s): (  , )( . )
fx)= in factored form

6. h(x)=x"—6x-7

y-intercept: ( , )
x-intercept(s): ( . )N i
h(x)= in factored form

8. g(x)=3"-x-2

y-intercept: ( , )

x-intereept(s): ( . ) ( 5 )
round values to two decimal places

5. g(x)=—-x"-9x-14

v-intercept: ( )

x-intereept(s): ( , )( ., )
g(x)= in factored form

7. f(x)=3x"—18x+6

v-intercept: ( , )

x-intercept(s): ( . ) . )
round values to two decimal places

9. h(x)=-x"+6x—4

y-intercept: ( y )

x-intercepi(s): ( , )( ., )
round values to two decimal places




